= % 61 x9+61x2 2 ALt Axtet £ AL o] A<
® 9+2 @ 61x(9-2)
@61x(9+2) @ (61x61)+ (9+2)

® (61 +9)x (61 +2)

B

61X 9+ 61 x2 =549 + 122 = 671 4t}

@9+2=11
@61x(9-2)=61x7=1427
®61x(9+2)=61x11=671

@ (61 x61) + (9+2) =3721 4+ 11 = 3732
® (61 +9) x (61 4 2) = 70 x 63 = 4410




@ (1) 6 (2) 32 @ (1) 0.6 (2) 32
® (1) 0.6 (2) 0.32 @ (1) 0.06 (2)3.2
@) 0.06 (2) 0.32

B

(1) 1m = 0.001 km
60m = 0.06 km

(2) 1g =0.001kg
320g = 0.32kg




3. 0% F AN I 2 AL o= AYUI

@D 56+ 8+ (6x2) @ (56+8)+6x2
@) (56 + 8+ 6)x2 @ 56+ (8+6)x2
® 56+ (8 +6x2)

B

@ 56+8+ (6x2) =19
@ (56 +8) +6x2=19
® (56 +8+6) x 2 =26
@56+ (84+6)x2=38
®56+(8+6x2)=2
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